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QUESTION 1

ActivationLimit is applied when which property is set to a value greater than 0? 

A. ThreadCount 

B. StepCount 

C. MaxJobs 

D. FlowLimit 

Correct Answer: C 

 

QUESTION 2

Which setting is used to specify that a process instance loaded into memory must remain there until it completes? 

A. Flow Limit 

B. Max Jobs 

C. Step Count 

D. Activation Limit 

E. Thread Count 

Correct Answer: D 

 

QUESTION 3

Click the Exhibit button. 
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Which statement is true about the process shown? 

A. The map activity will be called as many times as the number of records being iterated. 

B. The map activity will be called only once because the group is a critical section guarding access to the messaging
bus. 

C. The confirm activity is missing, so the process will not start. 

D. The message is never confirmed and is therefore redelivered continuously. 

Correct Answer: D 

 

 

QUESTION 4

Process A has a Timer. Process B has a JMS Queue Receiver. Process C has a JMS Topic Subscriber. These
processes are to be deployed on two machines and configured to operate in fault-tolerant and load-balanced mode.
Which two steps should you take to achieve this configuration? (Choose two.) 
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A. bundle the Timer and the JMS Queue Receiver in one EAR file and deploy it in fault-tolerant mode 

B. bundle the JMS Topic Subscriber and Timer in one EAR file and deploy it in fault-tolerant mode 

C. put the JMS Queue Receiver in its own EAR and deploy it twice 

D. bundle the two JMS-based starters in one EAR file and deploy it twice 

E. put the Timer in its own EAR and deploy it in fault-tolerant mode 

F. put the JMS Topic Subscriber in its own EAR file and deploy it twice 

Correct Answer: BC 

 

QUESTION 5

When using the Tester, which file is used to set custom engine properties (excluding Java properties)? 

A. the bwengine.xml file 

B. the designer.tra file 

C. a user created file 

D. the bwengine.tra file 

Correct Answer: A 
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